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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-2_0
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P3-2

FEREHLEBRE STEIERTFF (91.0 :

BRI\ SLFRIERE70.0 ml.

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:35 140 60.0 (Z=| {Ri%@07:35 Fz (FAEHSE)
08:25 140 60.0 |Z=| {Ri%e08:25 Fz1 (KEEZBE)
09:15 140 60.0 |Z=| {Ri%e09:15 Fz1 (KREEZEHE)
10:15 140 60.0 El BRi&e10:15 Fzh CGRAEREE)
11:20 140 60. 0 =l Rige11:20 F31 (RAERSE)
12:15 140 60.0 El BRige12:15 Fzh CGRAERESE)
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14:00 140 60.0 F BRige14:00 Fz1 CGRAERESE)
14:55 140 60.0 | {Ri%e14:55 F51 (REAERSE)
15:55 140 60. 0 | 1Ri%e15:55 F5 (REAHERESR)
21t 1400.0 (10)%) 600. 0 32 3KEC: 1900.0, PH: 5.6
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Warning: lcol ['PHB’,| 'PHC’'] missing
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12:25 140 50.0 (&=| 1Rig@12:25 Fz1 (REAEDSE)
14:10 140 50.0 FA| {Ri&@14:10 Fz1 (GRAEEE)
Bit| 840.0 (6%) 300.0 3ZHKEC: 1990.0, PH: 5.6

FEREHLEBRE STEIERT (91.0 :

BRI\ SLFRIERE70.0 ml.

large discrepency for begining water status (70:135.0), set to 83.0 ml.

O] RECZE (2145.0 vs 3000. 0) w5
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